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401 A|2H|LRCHH| 0 160,145 2160,145
01 Al4H| 0 159,000 159,000
03 A|MECHY| 0 1,145 A1,145
AUEAF S0{& HeEs ALY 0 2,900,286 | ~2,900,286
401 A|ZH|LRCHH]| 0 2,900,286 | ~2,900,286
01 AlgH| 0 2,443,286 | ~2,443,286
02 Z2H| 0 457,000 A457,000
TR S (C1AZ]) 900,000 777,000 123,000
AOLE 2] AAE Y| H2] 2ZAHY 900,000 0 900,000
401 A|ZH|LRCHH]| 900,000 0 900,000
01 AlgH| 900,000 0 900,000
OADIE Azl A|AE CHaty| L2 ALY 900,000,000%14! =
SLELY ALY L AIIY S BUIAE A2SA 0 58,000 £58,000
401 A|ZH|LRCHH] 0 58,000 58,000
01 Al4H| 0 57,373 A57,373
03 A|4SCiH| 0 627 ~627
S4YsY AF U YALE| 23St 0 40,000 A40,000
401 A|QH|LRCHH] 0 40,000 A40,000
01 AlgH| 0 39,568 £~39,568
03 AlMECy| 0 432 N432
SAYLY M2 2212 £87| 2SA 0 679,000 A679,000
401 A|dH|L Loy 0 679,000 679,000
01 AlAdH| 0 674,722 N674,722
03 A|4SCiH| 0 4,278 ~4,278
37|78 106,200 16,200 90,000
A2 SHIS 106,200 16,200 90,000
405 AtAZ|SH| 106,200 16,200 90,000
01 LU= FZISH] 106,200 16,200 90,000
O8ZYTY == & Y] 70 WA 4,600,000x7CH =
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LZIITHE @MEAIY I AMZSHIS @2 : AHAESH| =
i d4d ez
T2, FOHLR, H YA, TIRIAL MRS, 2 M o) Gy | S

OFELa DM 28 D&T2E WA 65,000,000x14! = 65,000
O8dd+ gAY Y31 ¢ 2,000,000%1CH = 2,000
Obtsd 43 AEE 8= 7Y 7,000,000x1CH = 7,000

HI7ts 8|2 S 405,000 305,000 100,000

QIZFR20| A 405,000 305,000 100,000

402 QUZFR20|d 405,000 305,000 100,000

01 CIZHAHZ ALY 22 (A A4 H) 405,000 305,000 100,000
Ok I8 Zlige2t JHZALY 400,000,000x14] = 400,000
OAr2|H ZTHAY SUE42 ZH(ALY 5,000,000 14! = 5,000

7|EIAHE AR & 146,460 0 146,460

Bret=71Et 146,460 0 146,460

Bret=7|Et 146,460 0 146,460

802 Hhal27|E} 146,460 0 146,460

01 InEZRFoez 87,490 0 87,490
OCIYA| T SOEUEEs EEAL 87,490,000x 14! = 87,490

02 Al-=HEZFUEE 58,970 0 58,970
OLLA| 7 S0 2 UEEs &AL 58,970,000x14] = 58,970

oi|H|H|(1)/0iH]H| 50,000 100,000 50,000

Of| B8] (R+=20]|4F) 50,000 100,000 50,000

OilB[8| (RH20]|4F) 50,000 100,000 A50,000

Of|B] 5] (RH20] &) 50,000 100,000 £50,000

301 Ofle]H| 50,000 100,000 A50,000

01 etofH|y| 50,000 100,000 A50,000
OAH20]| 4+ of|HH| 50,000,000x14] = 50,000




